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Candidates are required to give their answers in their

1. Answer any ten questions:

own words as far as practicable.
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Write two features of Financial Management.
wfeE rRleiaE uib @RE @14
What do you mean by Wealth Maximization?

TR T [ @REe

What do you mean by Average and Marginal
Cost of Capital?
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Mention two sources of Working Capital.
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What is Working Capital Cycle?
TR A b FI e 2

What do you mean by Trading on Equity?

2o Tofw T @IS @RI

Name two important Capital Structure Theories.
76 wPgal e SO Oogd 1N 4 |

What is Net Working Capital?

5 FRF Joee FIE 02

What is Operating Leverage?

TR foreiae e

What do you mean by Cost of Preference Share
Capital?

ST R SR T A R 2
Write full form of NPV and IRR.
NPV @38 IRR-43 #jCa *wafet (@12 |
Define Dividend.
STOTIRCHS eR| 7l |
What do you mean by Cash Flow Statement?
Tom-2iz Radt ce F @RI 2
What is Bonus Dividend?
@P-feferve i 0 2
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Answer any four questions:

Name two Sources of Funds in Funds Flow

Statement.
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Explain Long Term Sources of Capital.

S AR ST 3¢l 79 |

Is there any conflict between Profitability and

Liquidity? Make critical comment.

ATF-STG(E O] @ SR W [ (&I R
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Write short notes on cost of debenture.
7 Bl &14: Cost of debenture

From the following details find out EBIT, EBT
and EAT:

Installed Capacity 50000 units

Utilized capacity 80%
Selling Price per unit Rs. 30
Variable cost per unit Rs.15
Fixed Cost Rs.2,00,000
Tax rate 30%
Equity Capital Rs.4,00,000
Debt Capital

(Rate of Interest 9% p.a.) Rs.1,00,000
(3) [Turn over]

Vi)

Answer any two questions:
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Discuss remedial measures for Over-

Capitalization.
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Explain any five determinants of Dividend
policies.
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Write short notes on any two of the followings:

e @@ 9o EEE Ssiw A<Emwe T

a) Importance of working capital.
IR P GG

b) Criticism of MM model on dividend
policy.

STeN-e ALF® MM SCSETd ANED!

¢) Distinction between Cash Flow Statement

and Funds Flow Statement.

wfe-gaig {aad @ Jam-garz [Ragae i<y
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d)  Optimum Capital Structure.
F e AT

From the following information prepare a
statement showing the Working Capital

requirement:

a)  Projected Annual Sales - 26000 Units
b)  Selling price per unit Rs.60
c) Analysis of Selling price :
Material Cost- 40%, Labour Cost - 30%,
Overhead -20%, Profit - 10%
d) Time lag (on an average):
Raw materials in Stock - 3 weeks,
Production process - 4 weeks,
Credit to Debtors - 5 weeks,
Credit from Suppliers - 3 weeks,
Lagin payment of Wagesand  Overhead
-2 weeks,
Finished goods are in warehouse -2 weeks.
e) Cash in hand is expected to be 10% of
Net Working Capital.
BNE! & (72|

From the following particulars prepare a Cash
Flow Statement for the year ended on
31.03.2021:

(5) [Turn over]

Balance Sheet as on 31.03,2020 and 31.03.2021

Liabilities 31.03.2020(31.03.2021| Assets 31.03.2020(31.03.2021
Rs. Rs. Rs. Rs.

Capital 3,00,000( 3,50,000| Land & Building 2,20,000| 3,00,000
Bank loan 3,20,000( 2,00,000| Machinery 4,00,000| 2,880,000
Creditors 1,00,000 80,000 Stock 1,00,000 90,000
Bills payables| 1,80,000( 2,50,000| Debtors 1,,40,000| 1,60,000
Cash 40,000 50,000

9,00,000| 8,80,000 9,00,000| 8,80,000

Additional information :

a)

b)
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Net profit for the year ended on 31.03.21 Rs.
1,20,000.

During the year a Machinery costing Rs. 50,000
(accumulated Depreciation Rs.20,000) was sold
for Rs. 26000. The provision for Depreciation
against machinery as on 31.03.20 was Rs.
1,00,000 and as on 31.03.2021 Rs.1,70,000.

You may take other necessary assumptions.

QG P (7Y |

ABC Ltd, wants to undertake a Project which
requires a Plant costing Rs.5,00,000 having
effective life of 5 years and its scrap value will
be Rs.80,000 after 5 years. If the cost of capital
1s 15%, calculate the NPV after considering the

following information:
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Year 1 2 3 4 5

Cash Flow | 1,00,000 | 1,50,000 | 1,80,000 | 2,00,000 | 2,10,000

from the

Project (Rs.)

PV@15% | 08696 | 0.7561 0.6575 0.5718 049721
FAE 2 (7l |
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